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Guess Paper - 2007
Accountancy

March – 2007

Time Allowed: 3 Hours




              Maximum Marks: 80

General Instructions:
(i) This question paper contains two parts 'A' and ‘B'. Both the part is compulsory for all       students.

(ii) All parts of the questions should be attempted at one place.
____________________________________________________________________________

PART – A

(ACCOUNTANCY)

Q. 1. Define partnership. 
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Q. 2. Sita Travels Ltd. purchased assets of Batra Travels Ltd. as under :

Plant and Machinery of Rs. 10,00,000 at Rs. 8,00,000 Land and Buildings of Rs. 50,00,000 at Rs.  2,00,000 for purchase consideration of Rs. 80,00,000 and paid Rs. 20,00,000 through bank, remaining by issue of 10% Debenture of Rs. 10 each at a premium of 20%. Record necessary entries in the books of Sita Travels Ltd.
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Q. 3. JCM Ltd invited applications for issuing 20,000 equity shares of Rs. 20 each at a discount of 10%. The whole amount was payable on application. The issue was fully subscribed.
Pass necessary Journal entries 
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Q. 4. Case India Ltd. has outstanding 11,00,000, 10% debentures of Rs. 200 each, on April 1, 2003. The Board of Directors have decided to purchase 20 % of own debenture for cancellation at Rs.200 each.  Record necessary entries for the same. 
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Q. 5. Pawan and Purna are partners in a firm sharing profits in the ratio of 3:2. The balance in their capital and current accounts as on January1, 1998 were as under :

Pawan 

Purna

(Rs.) 


(Rs.)

Capital Account 



30,000


 20,000

Current Account (Cr.) 


10,000


8,000

The partnership deed provided that Pawan is to be paid salary @ Rs. 500 p.m. whereas Purna is to get commission of Rs. 4,000 for the year. Interest on capital is to be allowed @ 6% p.a. The drawings of Pawan and Purna for the year were Rs. 3,000 and Rs. 1,000, respectively. Interest on drawings for Pawan and Purna works out at Rs. 75 and Rs. 25, respectively.

The net profit of the firm before making these adjustments was Rs. 24,900.

Prepare the Profit and Loss Appropriation Account





3

Ans.
Profit Rs. 12,000.

Q. 6. Whet is meant by issue of debentures as ‘Collateral Security’? 
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Q. 7. What is meant by reconstitution of a partnership firm? Explain briefly any two occasions on which a partnership firm can be reconstituted. 
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Q. 8. State the purposes for which securities premium amount can be used by a company. 4 

Q. 9. Give the necessary journal entries in each of the following alternative cases :

(i) Realization expenses amounted to Rs. 500.

(ii) Realization expenses amounted to Rs. 500 and the partner has to bear realization expenses.

(iii) ‘A’ one of the partners was to bear all the realisation expenses for which he was given a commission of 2 % of net cash realised from dissolution. Cash realised from assets was Rs 25,000 and cash paid for liabilities amounted to Rs 5,000. 
3
Q. 10. Charlie Ltd. has issued 4,00,000, 9% debenture of Rs. 100 each redeemable after 8 years. debentureholders are given the option to get their debenture redeemed at 105 per debenture any time after 3½ years. At the end of 4 years, debentureholders holding 20,000 debenture exercised their option get their

debenture redeemed. Record necessary journal entries.
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Q. 11. On April 1, 2001, Ankits Hardware Ltd. issued 2,00,000, 9% debenture of Rs. 100 each at a discount of 10 % redeemable after 5 years by converting them into equity shares. Record necessary entries for the issue and redemption of debenture.
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Q. 12. A and B are partners in a firm sharing profits in the ratio of 8:7. On March 31, 2003, their capital stood at Rs. 80,000 and Rs. 70,000 respectively. On that date they admitted C as a new partner for 1/3rd share in the profits. C brought Rs. 50,000 for his capital and Rs. 15,000 for his 1/3rd share of  goodwill/premium. Out of this goodwill/premium brought by C, half of the amount was withdrawn by A and B. Record necessary journal entries in the books of the firm on C's admission and prepare the capital accounts of the partners.
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Q. 13. A, B and C are running a hardware shop sharing profits equally. Their financial position is as under :

Balance Sheet as at March 31, 2003

	Liabilities


	Amount

(Rs.)
	Assets


	Amount

(Rs.)

	Accounts Payable

Bank Loan

B’s Loan

Joint Life Policy

Reserve

Capitals :

     A Rs. 27,000

     B Rs. 34,000

    C Rs. 23,000

	20,000

7,000

20,000

18,000

84,000
	Land and Buildings

Office Equipment

Stock

Accounts Receivable

Joint Life Policy

Bank


	50,000

5,000

40,000

30,000

18,000

6,000



	
	1,49,000
	
	1,49,000


Partners agreed to dissolve the firm on that date. You are given the following information regarding dissolution :

1. The Joint Life Policy was surrendered to the insurance company. The company paid a sum of Rs. 11,500 after deducting an amount of Rs. 6,500 towards loan and interest thereon by B against the policy.

2. Office equipment was accepted by a Accounts Payable for Rs. 7,000 at Rs. 3,500 and the balance was paid to him by cheque.

3. Bankers accepted stock worth Rs. 5,000 and the balance in cash.

4. The firm purchased 200 convertible debentures of a leasing company in 2001. After sometime the investment was treated as bad and was written off. These debentures were found to be having a market value of Rs. 8,000 and were accepted by a creditor at this value.

5. Assets realized in the following manner :

Land and Buildings 
Rs. 2,00,000

Stock 


Rs. 30,000

Accounts Receivable 
Rs. 20,000

6. All the liabilities were paid off. Accounts Payable allowed a discount of Rs. 200.

7. Realization expenses amounted to Rs. 1,800.

You are required to prepare the realization account, bank account and capital accounts of the partners.
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Ans.
Profit on Realisation Rs. 1,61,400

Or

A, B and C commenced business on January 1, 2000, with capitals of Rs. 50,000, Rs. 40,000 and Rs. 30,000, respectively. Profits were shares in the ratio of 4:3:3. During 2000 and 2001 they made profits of Rs. 20,000 and Rs. 25,000 respectively. Each partner withdrew Rs. 5,000 per year. On 31st December, 2001, the firm was dissolved. Creditors and cash on that

date were Rs.12,000 and Rs. 2,000 respectively. The assets realized were Rs. 1,50,000. Creditors were settled for Rs.11,500. Realization expenses were Rs. 500. Prepare the Realization and Cash Accounts.







 

Ans.
Memorandum B/S (Total) : 
Rs 1,47,000

Profit on Realization : 
Rs 5,000

Amount/Cash paid to A : 
Rs 60,000

Amount/Cash paid to B : 
Rs 45,000

Amount/Cash paid to C : 
Rs 35,000
Q. 14. Kalinga Steel Tubes Limited issued a prospectus inviting applications for 2,00,000 Equity shares of Rs. 10 each at a premium of Rs. 2.50 per share payable as follows :

With Application 


Rs. 2.50

On Allotment (including premium) 
Rs. 5

On First Call 



Rs. 2.50

On Second Call 


Rs. 2.50

Applications were received for 3,00,000 shares and allotment was made on pro-rata basis. Money overpaid on applications was adjusted to the amount due on allotment. 

Kanta, to whom 400 shares were allotted, failed to pay the allotment

money and the first call, her shares were forfeited after the first call. Shameem, to whom 600 shares were allotted, failed to pay the two calls and hence his shares were forfeited. Of the shares forfeited, 800 shares were reissued to Mary credited as

fully paid for Rs. 9 per share, the whole of Kanta's shares being included. Record journal entries in the books of the Company to record the above transactions relating to share capital and present the relevant items in the Balance Sheet.
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Ans.
Capital Reserve Rs. 1,750.
Q. 15. A and B are partners in a firm sharing profits in the ratio 2:1. C is admitted into the firm with 1/4th share in profits. He will bring in Rs. 30,000 as capital and capitals of A and B are to be adjusted in the profit sharing ratio. The Balance sheet of A and B as on March 31, 2002 (before C's admission) was as under :

Balance Sheet of A and B as at March 31, 2002

	Liabilities


	Amount

(Rs.)
	Assets


	Amount

(Rs.)

	Creditors

Bills Payable

General Reserve

Capitals:

           A: 32,000 

           B: 82,000

Machinery

Building
	8,000

4,000

6,000

50,000

25,000

40,000
	Cash in hand

Cash at bank

Sundry debtors

Stock on Hand
Furniture


	2,000

10,000

8,000

10,000
5,000



	Total
	1,00,000
	Total
	1,00,000


Other terms of agreement are as under :

(i) C will bring in Rs. 12,000 as his share of goodwill.

(ii) Building was valued at Rs. 45,000 and Machinery at Rs. 23,000.

(iii) A provision for bad debts is to be created @ 6% on debtors.

(iv) The Capital accounts of A and B are to be adjusted by opening current accounts.

Record necessary journal entries, show necessary ledger accounts and prepare the balance sheet after C's admission.
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Ans.
Profit on Revaluation: Rs. 2,520; Partner’ capital Accounts balances A: 60,000; B: Rs, 30,000; C: Rs. 30,000; Balance Sheet Total Rs. 1,44,520.


Or


Fish, Goat and Hen are partners sharing profits in the ratio of 5:3:2 respectively. Balance Sheet on March 31, 2003 was as follows :

Balance of Fish, Goat and Hen as at March 31, 2003

	Liabilities


	Amount

(Rs.)
	Assets


	Amount

(Rs.)

	Sundry Creditors

Bills Payable

Profit and Loss

Capital Accounts :

Fish 65,000

Goat 50,000

Hen 40,000
	22,000

8,000

15,000

1,55,000
	Fixed Assets

Stock

Debtors

Cash


	1,00,000

45,000

45,000

10,000



	Total
	2,00,000
	Total
	2,00,000


Fish retires on March 31, 2003 and for this purpose —

Goodwill was valued at 

Rs. 25,000

Fixed Assets were valued at 

Rs. 1,25,000

Stock was considered worth 

Rs. 40,000

Fish is to be paid in cash brought in by Goat and Hen in such a way so as to make their capitals proportionate to their new profit sharing ratio, which is 3: 2 respectively. Minimum Cash Balance is to be maintained at Rs. 7,000.

Prepare Capital Accounts and the Balance Sheet of Goat and H




Profit on Revaluation: Rs. 20,000; Cash brought in by Goat and Hen: Rs. 56,300 and 30,800 respectively; Balance Sheet Total Rs. 2,17,000

PART – B

(ANALYSIS OF FINANCIAL STATEMENTS)

Q.16. What is meant by a ‘Cash Flow Statement’? 
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Q. 17. State in each case whether the cash flows resulting from the transaction are from ‘operating’ ‘investing’ or ‘financing’ activities;

(i) Issue of shares capital for cash

(ii) Redemption of debenture at premium for cash

(iii) Purchase of machinery for cash

(iv) Purchase of inventory for cash
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Q. 18. Briefly explain the limitations of analysis of financial statements. 
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Q. 19. Calculate Working Capital Turnover Ratio from the following information.

Liabilities 
(Rs.)

Share Capital 
200,000

12% Debenture 
1,60,000

Reserves and Surplus 
40,000

Current Liabilities 
1,40,000

Total 
5,40,000

Assets

Fixed Assets 
3,40,000

Current Assets 
2,00,000

Total 
5,40,000

Net sales during the year are Rs. 2,70,000
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Ans.
4.5 times

Q. 20. On the basis of the following information calculate: (i) Gross Profit Ratio (ii) Debt-Equity Ratio (iii) Working Capital Turnover Ratio.


(Rs.)

Net Sales 
36,50,000

Cost of Goods Sold 
23,60,000

Current Liabilities 
7,80,000

Loan Funds 
6,25,000

Current Assets 
13,29,000

Equity Share Capital 
17,80,000

Debentures 
840,000
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Q. 21. Following is the Balance Sheets of M/s Taran & Co. as on March 31, 2002 and March 31, 2003 were as follows :

Assets 



March 31, 2002 
March 31, 2003

Rs


. Rs.

Land and Buildings 
80,000 
1,20,000

Plant and Machinery 
5,00,000 
8,00,000

Stock on hand
1,00,000 
75,000

Accounts Receivable 
1,50,000 
1,60,000

Cash 
20,000
20,000

Total
8,50,000 
11,75,000

Liabilities and Capital

Share Capital 
5,00,000
7,00,000

Profit and Loss and Account 
1,00,000
1,60,000

General Reserve 
50,000
70,000

Accounts Payable
1,53,000
1,90,000

Bills Payable 
40,000 
50,000

Outstanding Expenses 
7,000 
5,000

Total 
8,50,000
11,75,000

Additional Information given by the company is :

(i) Rs. 50,000 depreciation has been charged to Plant and Machinery during the year, 2003.

(ii) A piece of machinery was sold for Rs. 8,000 during 1989. It had cost Rs. 12,000 depreciation of Rs. 7,000 had been provided on it.

Required : Prepare cash flow statement
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Or


The following balances appeared in Plant Account and Accumulated Depreciation Account In the books of Bharat Ltd: 

	Balances as a
	31.3.2003
Rs. 
	31.3.2004 
Rs. 

	Plant
	7,50,000
	9,70,000

	Ancumulated Depreciation
	1,80,000
	2,40,000


Addition Information:

Plant costing Rs. 1,45000; accumulated depreciation thereon Rs. 70,000, was sold for Rs. 35,000.
You are required to:

a) Compute the amount of Plant purchased, depreciation charged for the year and loss on sale of plant.

b) Show how each of the Items related to the plant will be shown in the cash flow statement.
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